

11/29/2024 09:00 AM | Delivery + Installation of Permanent Drape
12/03/2024 07:00 AM | Delivery and install for Drape For Dec 5th Ev
01/04/2025 07:30 AM | Install Front drape In champagne

03/26/2025 09:00 AM | Switch Furniture 04/03/2025 09:00 AM | Strike - All Furniture PO: Shipping Address: Bar Area 300 South Doheny Drive Los Angeles, CA CA Four Seasons Hotel 300 South Doheny Drive Los Angeles, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

escription		Qtty	Price		Total
/larch 26th - De	elivery and Switching Furniture				
	Sofas - Manchester - Leather Sofa	2	\$0.00	Т	\$0.0
Town I	73âN N W 34âN N L 33âN N H				
	Club & Lounge Chairs - Manchester - Exposure Club Chair	4	\$0.00	Т	\$0.00
	33"W x 33"L x 43"H				
	STRIKE - Sofa London - Chesterfield 02 Middle Room	2	\$0.00	Т	\$0.00
	STRIKE - Club & Lounge Chair Cranleigh Club Chair From Middle Room	4	\$0.00	Т	\$0.00
	Total March 26th - De	livery and	Switching Furni	ture	\$0.00
Restaurant ADI	DITION DRAPE				
	Drape to Cover Behind Bar - Permanent This is a Purchase	1	\$750.00	Т	\$750.00
	2- 9'Wide x 83"H Hotel to Provide Hanging Rod				
	Total	l Restaurant ADDITION DRAPE			\$750.00
intrance to Ho	tel				
	Drape to Create A double sided Velvet Entrance is a 20' Diam with the High Point at 15.2H	1	\$0.00	Т	\$0.00
		Total Entrance to Hotel			\$0.00
Permanent Dra	pe				
	Custom Made Drapes - Permanent Installation - Emerald Green Velvet 7'10"x8'11"	2	\$650.00	Т	\$1,300.00
	Double Sided Drapes - Client to provide Hardware				
Je Je	Custom Made Drapes- Permanent installation - Emerald	2	\$600.00	Т	\$1,200.00
to all in	Green Velvet 105"x 101"H Double sided Drapes - Client to Provide Hardware				

		Qtty	Price		Total
	Custom Made Drapes - Permanents installation - Emerald Green Velvet 5'9"x 8'11"H Double Sided - client to Provide Hardware	6	\$600.00	Т	\$3,600.00
		Total Permanent Drape		ape	\$6,100.00
Entrance Room					
	Drape Stock In Emerald Green Fabric to cover 2 walls 45'x 12'H with Valance	1	\$800.00	Т	\$3,200.00
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' Banquettes - Pasadena - Straight 6' - Emerald Green velvet 6'W x 39"L x 30"H	3	\$300.00	T	\$2,700.00
m	Coffee Tables - Antique Brass Nesting Large - 28" x 15.5"H, Small -	4	\$200.00	T	\$800.00
	Club & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"H	4	\$200.00	T	\$800.00
	Club & Lounge Chairs - London - Concord Club Chair 34"W x 36"L x 35"H	4	\$200.00	T	\$800.00
		Total Entrance Room		oom	\$8,300.00
Middle Room					
	Drape Stock In Emerald Green to Create 2 smaller Pullbacks 6' wide x 12'H X2	1	\$200.00	Т	\$800.00
	Console Tables - Oslo - Zebra Wood For Middle Room , IN between sofas 59"Wx 15.75"D x 34"H	1	\$180.00	T	\$540.00
	Sofas - London - Chesterfield 02 86"W x 40"L x 31"h	2	\$400.00	T	\$2,400.00
	Coffee Tables - Fiji - Wood & Brass (2 max) 52" W x 32"D x 16"H	2	\$250.00	Т	\$1,500.00
Sinker 1	Club & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"H	4	\$200.00	Т	\$2,400.00
	Ottomans - Hollywood - Light Grey W/ Brass Base Emerald Green covers 16"Diam x 18"H	6	\$40.00	T	\$720.00

Description		Qtty	Price	Total	
Back Room					
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' Banquettes - Pasadena - Straight 6' - Emerald Green velvet	2	\$300.00 Т	\$2,400.00	
	6'W x 39"L x 30"H				
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6'	1	\$300.00 T	\$900.00	
	Drape Stock to Cover Part of this room in Emerald Green Velvet AProx 60 x 12'H w/ Valance	1	\$1,000.00 T	\$4,000.00	
	Booths - Built In Channeled Booth Wood Painted Mahogany - Fabric On sofas Green 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17"	3	\$600.00 T	\$7,200.00	
7	Small Dining Tables - Manchester - Dark Wood 36âN Irnd x 30âN IH	1	\$250.00 T	\$250.00	
			Total Back Room		
other Elements					
	Chandeliers - Brussels - Palm Tree 33"W x 30"H - 24lb - 150 Watts	3	\$400.00 T	\$4,800.00	
			Total other Elements		
Services					
	Delivery Crew	6	\$550.00	\$3,300.00	
	Strike Crew	6	\$550.00	\$3,300.00	
	Transportation	2	\$350.00	\$700.00	
	Delivery Crew and Strike	2	\$650.00	\$1,300.00	
	Crew to Install - Strike and re install Drape at entrance	1	\$500.00	\$500.00	
	To Extend Furniture & March 26th - Switching Furniture	1	\$12,000.00	\$12,000.00	
Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it Notes			Total Products: abor/Services/Misc: Wear & Tear (4.00%): Packing (2.00%): Taxes: Discounts:	\$43,060.00 \$21,100.00 \$1,581.16 \$790.58 \$3,755.26 (\$3,531.00) \$66,756.00	
			Payments:	(\$27,333.85)	

Balance: \$39,422.15